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They should be exempt because of the proper counting

OVERVIEW

"X asks if we can give w91 7an wyn then why does the 7iwn teach that if
™17 11 IR 7R that all are 7w from Wwyn; we should give wyn (the tenth
of each batch) 1"mn. If the y5p is not in this group of ten then the tenth is a
valid wyn, and if the y9p is in this group of ten (so the tenth is not a wyn),
it does not matter (that no "wyn was taken from these nine), for they are
exempt from WwWyn since they are considered a "X in. Our NBOOIN
challenges this assumption that it does not matter that "w¥» was not taken
from these ten for they a "X97 1°m2 7wy, for indeed it does matter, and
furthermore it can be rectified.

MooIN asks:
— NN M PV NY X917 9D

It is astounding! For the exemption of »X=77 1% is not applicable here -
— 73 JN3 1PN 1753 TN 5113 MINAY HINNDY NIVY ON 23 PNT NN NIN TV NYT

For the exemption of "1X777 112 is applicable only in a case where there are
only ten sheep, and he began to count, and one died before he counted

ten, so there are no ten sheep here and “wyn will not be taken -
— NN 1997 19908 XY INYOY JIN DIV 251 199N

Nevertheless those that went out (and were counted) are exempt from
7wyn and need not be combined to another corral -
— 19370 ©YYWNY NN 15D NN NYINNY
Since from the beginning of their exiting there was the capability to
complete the counting of ten sheep. Therefore we say that those that exited are "D
(and those that remain will be 1R 1739 q70¥R).
- ZW‘WP N/79) 995Uy NN 1]’))311 05YW’ NAYN 97y VIV NON YaN
However here where there are many sheep remaining in the flock let him
complete the counting and the tenth and the eleventh sheep will be w1
—IND ON D173°2 2139 YW ON PADN YUY DNV NIP”

" The ten that exited (assuming that the "1 was 231n2) should not be exempt from Wwv» because of 7n
IR (as IR suggests), since there is a (simple) way to have wyn taken from them.

? See w"x17 Moo that the tenth and eleventh will be eaten by the owners when they develop a ow. Others
suggest that he can make a Xin, saying if the tenth is 7wyn then the eleventh will be a 2°n%w and vice versa.
The n1a1p of (m72) "wyn and 27w are both (2°%p 0°w7p and are) eaten TR 77°21 2 W5,
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And he will pronounce them both, ‘tenth’, because of the doubt whether
the "u» was amongst the first ten (wherefore the eleventh should be wmp)
or not (and the tenth should be tzmp)"’ -

29NN 199 1990 *NUY ANYS RYY N3NNI Uy 10X Y93 DY 19
And he should do the same by each group of eleven (pronouncing the
tenth and eleventh as w7p), and at the end when there will not remain
ten, those sheep will be combined to another corral.

mdoIn does not answer this question.’

SUMMARY
In a case of yop the ruling should be that the tenth and eleventh are wTp
POON.

THINKING IT OVER

Had »axk said as noon asks that we should be “wyn the X" 3wy (and not
MR 1372 1007), would 2k be able to prove his point that >ya Xp*50 7"0 X
1"mn WYL MY, or not?®

* mooin question is on the MR 1712 VDY RIT 7210 92 XD *XY "I1 1" WY, the X3 should have said (see
WX N190IN) that WITP WY IR KT R AR WITR WY T ¥OIPIT RYY X7 O 1"n mrwyl. We should notjust
have the tenth be wyn (as »ax suggested) but rather the tenth and eleventh. *1X777 111 is not sufficient cause
to allow these nine and the "11» not to have wy» taken from them, when we can have the (tenth and the)
eleventh to be wyn.

* This means that 10 & 11 are w7pn and then 20 & 21 are wpn (#11 [which is poon w7pn] will be counted
as # 1 for the second group), 30 & 31, etc.

> This means ten besides the P50 who might be there. If only ten remain then they are qmX 7703 0%,

% In the 9mx 77 also, Wy will be given from the X" *1wy, because perhaps the "1» was in the remaining
sheep.

7 See n"nx # 184.

¥ See ¥ .
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